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&5 E 4 B | TEhSDERE jja)jté:é E 4 THMSDKE [ FHE jza)jté:é E 4 B | bErooE ﬁa)jté:é X 4 tmhookE | & jmjté:é
(m) (m) (kN/m) EBBf(m) (m) (kN/ ) (m) (m) (kN/ ) (m) (m) (kN/m)
] 100kN/MZEBZ 5 -l -~ = -[3mZEEZ B ad ~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
Fhest -l -~ = -| #hes -~ = = = Fhest = -~ = -| #hest -~ = = =
9 100kN/MZEEZ 5 1.00|0.00 ~ 137 120.84|3m%EEZx % =l ~ = = —| 100kN/ %8B X% 1.00] 10.58 ~ 15.24 120.84| 3m%E#EZ % =l ~ - - -
ZzHnest 1.00]1.37 ~ 9.16 100.00| Zhkist 1000 ~ 9.16| 2.14 11.44 et 1.00] 500 ~ 10.58 100.00| ZhList | 5.00 ~ 15.24| 2.14 11.44
3 100kN/MZEEZ 5 1.00|0.00 ~ 137 120.84| 3m%EEZ % =l ~ = = —| 100kN/ %8B X% 1.00] 10.58 ~ 15.24 120.84| 3m%EEZ % =l ~ - - -
ZzHnest 1.00]1.37 ~ 9.16 100.00| Zzhelst 1000 ~ 9.16| 2.32 12.43 et 1.00] 500 ~ 10.58 100.00| Z#hList | 5.00 ~ 1524 2.32 12.43
4 100kN/MZEEZ 5 1.00|0.00 ~ 1.17 117.59|3m%EEZx % =l ~ = = —| 100kN/ %8B X% 1.00] 10.53 ~ 14.20 117.59|3m%EEZx % =l ~ - - -
ZzHnest 1.00]1.17 ~ 895 100.00| Z#heist 1000 ~ 8.95| 2.18 11.64 et 1.00] 500 ~ 10.53 100.00| Z#hList | 5.00 ~ 14.20| 2.18 11.64
5 100kN/MZEEZ 5 1.00|0.00 ~ 1.05 115.73| 3mZEEZx % =l ~ = = —| 100kN/ %8B X% 1.00| 10.86 ~ 14.52 115.73| 3m%E#EZX % =l ~ - - -
ZzHnest 1.00]1.05 ~ 883 100.00| Zzheist 1000 ~ 8.83] 207 11.07 et 1.00] 500 ~ 10.86 100.00| Z#hList | 5.00 ~ 1452 2.07 11.07
6 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B ad ~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 5.01 62.46| ThLst 000 ~ 501 1.57 8.38 et 1.00] 500 ~ 575 62.46| ThLt | 500 ~ 575 1.57 8.38
100kN/MZEEZ 5 ~ IMEERD ~ 100kN/MZEBZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~ |
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